atl1*CurMon:Entry$ atl1*CurMon {ErrorFlag==0} asym_atl1/ppm:pattern_number {ErrorFlag==0} asym_atl1

c = 650F Entries 70585
ED B thTree B “ B
3 14000~ _ x % X x x T T - Mean 0.3277
2 : Enties 282482 | 10000 pak oo Sy i o 600F-
= __ i T3R5 )xg T —}{}{xgx &5 55 b e S S é % W i
T ¥ RARANRAtAY:Yah ol BALARAP. IARNND SO ALATATALAD ST AY B Std Dev 1617
D% - ean : ! -
- 5000} 530~ || Underfiow 1.0976+04
¢ 10000 — I N
i Std Dev  0.02261 - Overflow 1.087e+04
I _ 500 |
1.5 I _ 450
6000 — § _
i 5000 -
4000 : NEE L *0F
- [ % _:;E:;E?gg_é_:gxiﬁé v ﬁ"&gﬁﬁ-&% ERHRHH :
- woxEXTT T RRT Mk MR KxxxT Tk ki B
0.5 . 10000 feee %7 % oo TRR T TR Tk xR 350
5 [ . T wx :x: %X rx:
. 2000 - x y [
- - % % :x: -
g 3 i - * :
il Bl |9 |||||||||| ||||| |||| H‘IUS D_I | 1 | L1 | L1 1 1 | L 1 1 1 | ] ] | L1 1 1 _-ISDDD_ ] I ] | I ] ] | ] ] I | ] I ] | I ] ] | l H‘IDS BDD_l L1 | | L 1 1 | | 1 1 1 | 1 1 1 | | 1 1 1 | L 1 1 1
] ) 100 )0 250 300 350 4 450 2.79 2.8 2.85 2.9 2.95 0 20 40 60 80 100 -3000 -2000 -1000 0 1000 2000 3000
Entry$ atl1*CurMon pattern_number ppm

run6619 000 at atl1.png



atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0} asym_atl2/ppm:pattern_number {ErrorFlag==0} asym_atl2

c B Entries 70585
5 : evilree - 3 _
g 1.2 12000~ i y 340f
5 n u - Mean 2.494
3 : Ftes 2024821 20000[5 T o x X 0l 53 oT 380
© | - X x}{}{-—:ﬁ:g}{x§ K }{}{}:}{}{}{}{}{2}{}{ K E _lr Std Dev 1705
10000 RN TR OO IR XXX ronl
B Mean 1.054 T(TT TTTT TIT - ]
B 10000 il - - -[ Underflow 2.053e+04
i i 1 310
0.8] 8000~ Std Dev  0.01318 _ - Overflow 2.067e+04
= I 300 ) -
* kR E o ' L . __ 0 E -|. J_ H [-
i : 280 [ ' |
0.4 40007~ 10000 {- ] J - [ I
I UL UL T 2700t 1[ I L
- —xxxxgxngxxx wids Lwddwedsod Lo soooox T
0.8 2000 — §>{§}:}{}{}{}{ XXEXX XEHHXTHNAHAX KHHHXX 260l
: - 20000 *  x % X% X xR X T
.“ L [ gadal | 1 | Ll ix10° D|_||]_| 1 B A AR R B L1 | o b b e b b by Ix108 25":l—_|||||||||||||||||||||||||||||
' D 100 D0 250 300 350 4 450 1 1.02 1.04 1.06 1.08 1.1 N 0 20 40 60 80 100 -3000 -2000 —-1000 0 1000 2000 3000
Entry$ atl2*CurMon pattern_number ppm

run6619 000 at atl2.png



atr1*CurMon:Entry$ atr1*CurMon {ErrorFlag==0} asym_atr1/ppm:pattern_number {ErrorFlag==0} asym_atr1

c 7 - - Entries 70585
g 14000 thTree B 800
5” - E"E . : : ‘IDDDDE}{ ii}: i ;{; i B i %X }{}{}}i :; I ) Mean ~3.261
= - Entries 282482 gegesge :xg:xg-- Auink L& gx}:gx}:xg o -
= 12000~ FTTEETETT T SR TETTTE ST - Sabev 1623
- 550
i Mean 5.812 - -
10000 S000 - | Underflow 1.12¢+04
- Std Dev  0.04831 : 500 Overflow 1.098e+04
EDUD__ ! 45':'-_ m
: | - 5000 I
4000 UL L L=l DELLL | I LIILL ] -
. %}:x}{}ém{:ﬂ:-— L L senex WH KKK }{}{x}{%—- 400—
i 40000 X X505 foc Xk X X XET XTRGR .
B - 3 b b 3 [
\ 2000— - g X b 5 -
11 N - - x 350
i'_ s |||||||||| ||||| |||| H‘IUS D_I 1 1 | 1 | I I | | I I | 1 1 ] | L 1 1 -1EDDD_| | | | | | | | | | | | | | | | | | | | | .:"::‘IDS S I | I 1 1 1 | I 1 1 1 | I I | L 1 1 1 | I I
] ) 10C D0 250 300 350 4 450 5.6 57 5.8 5.9 6 0 20 40 60 80 100 -3000 -2000 —1000 0 1000 2000 3000
Entry$ atr1*CurMon pattern_number ppm

run6619 000 at atri.png



atr2*CurMon:Entry$ atr2*CurMon {ErrorFlag==0} asym_atr2/ppm:pattern_number {ErrorFlag==0} asym_atr2

c - 60000 = Entries 70585
5 . - evtlree - i : |
3 e 4t - I . 230 JI Mean -8.387
x N - i B B My
?:] 3.5 " . EDDDD: Entries 282482 40000 L- - _ _ e
© 18000 y . N ﬁ% SR ﬁi? o0 - 1T ov 1717
, = g4dan . T T al AT B
i 168000 T ExB [ % xx™% Soxksox “Tl% x| - I Underflow 2.516e+04
: 20000 - X % 210F _
2 5% 14000 Std Dev  0.08299 : - ]Jl Overflow 2.52e+04
3 ; : | I L
12000} D%HH HH HH HH 2001 |1 TMI - [ L EU ‘UL[
10000 - B ' l
5 FEL Y LFEE | E FE - I 190 ' L :
I BB E B BiE | & T 8000 20000/ :
I EE E W BET | g . - ; T ¥ x x FLL .
6000~ s s e E s, Moo 7 5%, 1801
— EA Y L # - A -
. 4000 B¢ x X% X% - Dol
- E 40000 — - 170~
t) | ||||||||||||||| ||||:’{'|l':|3 D_||| I B Coeoc o o b o b e o |y ':{'IUS ‘IE[]_—|||||||||||||||||||||||||||||
] ) 100 D0 250 30C 50 4 450 2.8 3 3.2 3.4 3.6 3.8 0 20 40 60 80 100 -3000 -2000 —1000 0 1000 2000 3000
Entry$ atr2*CurMon pattern_number ppm

run6619 000 at atr2.png



asym_atll

asym_atl2

asym_atrl

asym_atr2

run6619 000

/ —_ : — i — —70¢
i i —B0¢ i
B 80( N "
0.01 0.01F 0.01F _leoc
- - —50¢ -
B 50¢ B B
0.005H 0.005H 0.005H —50C
B B 40( B
- - - i 40¢
0 0 0
: : a0¢ - 201
_0.005 |- _0.005|— _0.005|—
: - 20¢ - 20¢
_0.01 _0.01 _0.01
B B 10 B 106
—D.D1 i | L1 | | | | | | | | | | | | | | | | | | | | | | L1 | —D.D15_ 1 | I | | | | | | | | | | | | | | I | | | | | | | | D —D.D15_ | L1 L1 | 1 L1 | | L1 | | | L1 L1 I | L1 | | L1 | D
P015  —0.01 —0.005 0 0.005 0.0 —0.02  —0.01 0 0.01 0.02 “0.015 -0.01 -0.005 O 0.005  0.01
asym_atll asym_atl2 asym_atri
i i i —70¢
I | . I | . I | .
i 60¢ i soc i
0.02- 0.02- 0.02- -
| 50( i -
- - > - —{50¢
0.01 0.01 0.01
! ! 40t ! 40(
0 0 0
: - a0¢ i a0¢
~0.011 ~0.011 20( ~0.011 200
- - 10¢ -
—0.02 _0.02 _0.02 100
B L1 1 1 | | I | | | I | | | I | | | I | | L1 1 B L1 I | | L1 | | | L1 | | | L1 I | | L1 | | | | D B | L1 1 1 | L1 1 1 | | I | | L1 1 1 I L1 1 1 | L1 1 D
~0.015 -0.01 —0.005 0 0.005 0.0 —0.02  —0.01 0 0.01 0.02 ~0.015 -0.01 -0.005 O 0.005  0.01
asym_atil asym_atl2 asym_atri
B — 70C B — 700 B — —{70C
0.01- . 0.01 o 0.01 o
0.005— 50( 0.005— 50 0.005— —50¢
B B B 40(
o o 40¢ o
L L . L
: - 30( - 300
0.005 _0.005 _0.005
B B 200 i 2010
_0.01— _0.01— —0.01—
i Z 10¢ [ 10¢
_0.015 _0.015 _0.015-
| I . | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | 1 1 || I | | 11 | | | 11 | | | 11 I | | 11 | | | | D | | I I | | L1 1 1 | | I I | | L1 1 1 I | I . | | 1 1 D
~0.015 -0.01 —0.005 0 0.005  0.01 —0.02  —0.01 0 0.01 0.02 ~0.015 -0.01 -0.005 O 0.005  0.01
asym_atll asym_atl2 asym_atri
Sym_ Sym_ oo asym_
L " 90( L B L {100
0.04 80( 0.04/— 0.04/—
i i —80¢ i
i —oc i i —80¢
0.02- . 0.021- 0.021-
- - O 80 - &0¢
, 50¢ , ,
0 0 0
- 40¢ - -
i i 40 i 40
—n.02 30¢ —n.02 —n.02
- 20¢ I 20¢ i 20(
-0.041- Joc —n.m_— 004
| ] u I | I
| I . | | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | 1 1 || I | | 11 | | | 11 | | | 11 I | | 11 | | | | | | I I | | L1 1 1 | | I I | | L1 1 1 I | I . | | 1 1 D
~0.015 -001 —0.005 0.005 —0.01 ~0.015 -0.01 -0.005 O 0.005  0.01

asym at mutua

I correlation-COEZ.png

asym_atr2

B —aoe
0.01 aoc
B 70¢
0.005- ™
B —gor
o™
| [ |
_0.005|—
_0.01
_D.D1 5_ i | | | | | | | | | | | | | | | | | | | | | | D
_0.04 -0.02 0 0.02 004  0.06
asym_atr2
i — —10¢
I | .
' p.02-
| —80(
0.01
D |
—0.01—
—0.02
B | | | | | | | | | | | | | | | | | | | | | | D
_0.04 -0.02 0 0.02 004  0.06
asym_atr2
- —10¢
0.01
- O
Z s | 80C
0.005
ol
_0.005—
: [ |
_0.01—
- 0
_0.015—
| | | | | | | | | | | | | | | | | | | | | | D
_0.04 -0.02 0 002 004  0.06
asym_atr2
| I = | oo
0.04/— —laoc
I 700
0.02
i —g0C
D |
_0.02
_0.04
B
| | | | | | | | | | | | | | | | | | | | | | D
_0.04 -0.02 0 002 004  0.06
asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

run6619 000

asym_atrl

0.003

0.002

|

pO —3.495e—-06 + 1

¥/ ndf 39.26/38

136e-05

0.001

0

-0.001

-0.002

-0.003

-0.004

-0.005

-0.006

L | p1
WlHHJer#%ﬁ Cor factor

—0.01011 £ 0.00431

-0.0115

T ‘

-0.015 -0.01 -0.005 0 0.005 0.01

%2 | ndf 31.36/39 ral
p0  2.944e—07 +3.218e-07 =
p1 0.9993 + 0.0001
D_
-0.005 -
~0.01 e
:I L1 1 | | I I | | | I I | | | I I | | | I I | | L1 1
-0.016 -0.01 -0.005 0 0.005  0.01
%2 [ ndf 30.96 / 39
p0 9.91e-06 + 2.10e—05
p1 0.02954 + 0.00809
Cor factor 0.0168 -
0.004]- 1
0.0021 } } }
' } J ﬂ#{fﬂi e H{}M |
0.002 - w
0.004
-0.006 _
:I 1 1 1 | | I I | | | I I | | | I I | | | I I | | 1 1 1
-0.016 -0.01 -0.005 0 0.005  0.01
_ ¥2 | ndf 28.87 /39
0.006
i p0 ~1.176e—05 + 1.149e-05
0.0041~ p1 —0.01013 + 0.00443
0.002 B —} { Cor factor -0.0115
o NH‘TM&*%WW.W f M Hw
0.002 |
0.004—
0.006|—
_D-ﬂﬂa__lIII|IIII|IIII|IIII|IIII|III
-0.0156 -0.01 -0.005 0 0.005  0.01
- 2/ ndt 35.95 /39
0.005— | H p0 1.107e-05 + 3.195e-05
- HN“H{;M p1 ~0.2981+ 0.0123
D_
B 1 1 Cor factor -0.1013
I T u
-0.005 - }
—0.01
0.015F
_0.02
=1 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | 1 1 1

-0.015 0,01

asym_at

—-0.005 0 0.005

asym_atl2

¥ ndf 42.48 /38

pO —4 968e—06 + 1.139e105 )

p1 0.007/828 + 0.002394 }

Cor factor 0.0168 # } }[
~0.001 H | { }
-0.002 |
-0.003|
-0.004

: 11 I | | 1 1 | | | 1 1 | | | 1 1 I | | 1 1 | | | |
—0.02  -0.01 0 0.01 0.02
asym_atl2

2/ ndf 36.84 /38 )

p0  _8.747e—07 + 5.997e—07

o1 0.9992 + 0.0001 =

ol
001 .
002
| 1 I_ I L1 1 1 | | L1 1 | L1 1 1 I L1 1 1 | | 1 1
—0.02  -0.01 0 0.01 0.02
asym_atl2

¥Z / ndf 38.01/ 38

pO -1.17e-05 + 1.15e 05 |

p1 0.02459 + 0.00242

Cor factor 0.0473 ]lh H |

oF || 1 H, e ++*H --

E 1 L F[+ i | |
—n.nm:— |
-0.002~ ]
~0.003

_ 11 I 1 1 1 1 | | 1 1 1 | 1 1 1 1 I 1 1 1 1 | | 1 1

—0.02  -0.01 0 0.01 0.02

asym_atl2

¥2 | ndf 46.45 /38

pO 2.1e-05 + 3.2e-05

p1 0.084 + 0.007

Cor factor 0.0559 )

0.005— r

: *HHHH
o 1 = 1
e
-0.005 } k
~0.01F ] }
_D‘D15__I I_I 1 1 1 1 | | 1 1 1 | 1 1 1 1 I 1 1 1 1 | | 1 1

mutual correlation-fit.png

2 | ndf 20,62/ 38
B0 1.643e-05 + 2.098e-05
p1 0.08711x 0.00801
Cor factor 0.0473
0.002 f
1 ﬁ I HM#H MH
o002 | }“ + J[ )
-0.004F "
_0.006—
_|IIII|IIII|IIII|IIIIIIIIIlIII
—0.015 -0.01 -0.005 0 0.005  0.01
+2 | ndf 33.69 /38
p0 —4.315e-07 = 3.331e—07
p1 0.9994 + 0.0001
D_
_0.005/—
—0.01
_ll_III|IIII|IIII|IIIIIIIIIlIII
—0.015 -0.01 -0.005 0 0.005  0.01
2 | ndf 37.01/38 -
p0 3.422e 05 + 3.000e-05 ﬁ J[
1 0.9606 + 0.0115 HJFPfﬂL 1l
P . T U H 't
Cor factor 0.3535
u_
. - 1
B - +Ht
-0.01— } ww-”
—0.02— }
—D.ﬂ3—||_|||||||||||||||||||||||||||

-0.015 -0.01 -0.005 0 0.005 0.01

0.006 - ¥/ ndt 18.57 /25
i p0 —2.854e—06 + 1.135e-05
0.004 —
B p1 _0.03452 + 0.00157
- Cor factor 01013
0.002— - 1[
e #
- 1
0 0 } } H J*H} t ]
i 1
I H ++H Hl
-0.002— } }H J[
0,004 {
_I | | | | | | | 1 | | I | | 1 | | | | | | | 1 |
-0.04 -0.02 0 0.02 0.04 0.06
12/ ndf 33.36 25
p0 1.09e-05+ 2.10e-05
pi 0.03439 + 0.00293 i
Cor factor 0.0559
’q.H
D I | Iy + + “-
B JrH R
B 1 t
_0.002 }
-0.004F _ I
_0.006—
_0.008— 1[
N | | | | | | | | | I | | | | | | | | | | | |
-0.04 -0.02 0 0.02 0.04 0.06
¥/ ndf 38.64 /25
p0 —1.787e-05 + 1.077e-05 ‘J[
p1 0.1258 + 0.0015 J[HH
Cor factor 0.3535 4 Jr##
-I-_l_.|.
.00 —
O
_p.oo2- -
F f
- ff
-0.004] “ﬁ
-0.008F A
-0.008F-
—D.ﬂ1:""|"'|"'I"'l"'l"'l
-0.04 -0.02 0 0.02 0.04 0.06
0.04 Entries 70585
B . Mean  2.303e-05
0.02— e
u Meany 2.303e-05
0k Std Dev  0.00835
| Std Devy 0.00835
—n.02 e
004 -
_I I_ | | | | | | 1 | | I | | 1 | | | | | | | 1 |
-0.04 -0.02 0 0.02 0.04 0.06




asym_atll

asym_atl2

asym_atrl

asym_atr2

run6619 000

asym_atll

0.01—

0.005

-0.005—

-0.01— 7

1 1 1 1 | 1 1 1 1 | l
-0.01
—DEtﬂ‘IE -0.01 -0.005

asym_atl1l

0

0.005

0.01
asym_atll

© 002

0.01—

-0.01—

-0.02—

11
-0.015 -0.01 -0.005

asym_atl1l

0

0.005

0.01
asym_atl1

0.01—

0.005

-0.005—

-0.01

-0.01 5_|

1
-0.015 -0.01 -0.005

ym atll

0.0

0

0.005

0.01
asym_atll

0.04—

0.02—

-0.02—

-0.04—

DD‘IE —DEH -0.0

asym

D D{}E

at mutua

f”“t‘:

asym_atl2

0.01—

0.005

-0.005—

-0.01—

—D.D15 11 I L1 1 1 | 11

-0.02

0.02
asym_atl2

C 002

0.01—

-0.01—

-0.02— 7

] ]
-0.02 -0.01

asym_atl2

l
0.02
asym_atl?

0.01—

0.005

-0.005—

-0.01

-0.015

Dﬂ

1
0.02
asym_atl2

0.04—

0.02—

-0.02—

-0.04—

-0.01

0.01 DDE

orrelation-scat ‘png

asym_atrl

0.01—

0.005

-0.005—

-0.01—

_DD15| II|IIII|I

—DD15 -0.01  -0.005

0

0.005

0.01
asym_atri

0.01—

-0.01—

-0.02—

-0.015 -0.01 -0.005

asym_atrl

0

0.005

0.01
asym_atri

0.01—

0.005

-0.005—

-0.01

-0.015

-0.015 -0.01 -0.005

ym atrl

0

0.005

0.01
asym_atri

0.0
| u
0.04—
0.02—
D_
_0.02 |
-0.04—
_lIIII|IIII|IIII|IIII|IIII|III
-0.015 -0.01 -0.005 0 0.005 0.01
asym_atri

asym_atr2

0.01—

0.005

-0.005—

-0.01—

—D.D15 l l | l l l | l l

-0.04  -0.02

0.04

0.06
asym_atr2

0.01—

-0.01—

-0.02—

-0.04  -0.02

asym_atr2

l
0.04 0.06
asym_atr2

0.01—

0.005

-0.005—

-0.01

-0.015

1
0.04 0.06
asym_atr2

0.02—

-0.02—

-0.04—

1
0.04 0.06
asym_atr2



